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B SO I8 I (LUIIHT/YHF)
Chel: MEONY olzrst (=L R0
SA B ER(S) - MRAE - BaS Of &r e HIDE
303 Zat= 5,000 5,000 0
01 Z&at=s 5,000 5,000 0
Qe8I Al AUMEIE 5,000
FMAREA Y2 2 3,000 3,000 0
201 2Er2gY| 3,000 3,000 0
01 At22t2ll 3,000 3,000 0
OFMADBY AORE| 50 EA S 3,000
SXEdst NYAMNE =T (& - S/ M E 55,000 35,000 20,000
NE3)
NEEL & ARz 55,000 35,000 20,000
RS 2 NS S 55,000 35,000 20,000
201 €erE gl 46,000 21,000 25,000
01 At22t2lHl 11,000 14,000 /3,000
OMIHE = 29 6,000
OTHINE?Ee 29 5,000
03 &ALZ S HI 35,000 7,000 28,000
O MINE LR2AT A2AS 5,000
OTHISE HWEE2 HA 30,000
202 O4H| 9,000 9,000 0
01 =UWo 9,000 9,000 0
O=U0Hl 9,000
2AE 435 FE(FELNEANL/RNALEAI) 50,000 78,700 /28,700
CoIo HoF g 50,000 78,700 /28,700
CEN=2H 24 50,000 78,700 /28,700
201 282 50,000 68,700 A 18,700
01 At 22l 40,000 52,000 A12,000
OX =z A+ 32,200
Q322 A SEHHl diz 5,000
O=FY, SMAUM & = X S 2,800
03 AtZ I 10,000 16,700 6,700
oZzd=s 2uxEy 29 10,000
Y2 (012 24)(JIEHIIE) 129,500 119,619 9,881
el E2E| 32,456 29,440 3,016
SHacl dEedE 29 32,456 29,440 3,016
101 2124 32,456 29,440 3,016
03 RIHA=ZZ X E S 32,456 29,440 3,016
oJlz= 1,528, 1903 x 128« 1 18,339
odn= 1,528, 1902 *32| x1H 4,585
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OFSEm s 1,528, 190& x23| »20%* 14 612
oAZeRR+Y
10, 1453 +150%*20 Al 2H+ 123« 1H 3,653
(ORPNEa= oIS 81,1573 152 «1H 1,218
OFE =il 1,528, 190& 23] x50%* 14 1,529
OFHASAHI 130,000& x12& *1H 1,560
(©ImE=3:] 80,0003 <12+ 1Y 960
Jl=&Hl 97,044 90,179 6,865
fA2E J1E2ZH| 97,044 90,179 6,865
201 2 EH2EH| 58,124 54,439 3,685
01 At 2teltl 54,524 49,639 4,885
OFME2E AR 22/ 54,524
02 5323l 3,600 4,800 21,200
ORKNEE B394l 3,600
202 044l 18,240 15,360 2,880
01 S LHOYI 18,240 15,360 2,880
ORN2E =0 18,240
203 2=l 20,680 20,380 300
01 J| 22 R=AH| 16,000 16,000 0
QI8 =dHAME 10,000, 000& 10,000
QJl=& 6,000,000& 6,000
04 RN2ILRFAH 4,680 4,380 300

©312! 014t 390,000& 128 4,680




